LO: identify angles ANSWERS

Activity 1

Activity 2

Challenges

Challenges

Circle the pentagon with exactly four acute angles.

Kirsty says,
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[ you always get an obtuse angle.

Explain why Kirsty is not correct.

An explanation showing that
doubling acute angles can result
in an acute or a right angle.

For example:

The smallest acute angle is 1°.
Double 1 is 2.

2° is still an acute angle.

O /t
Has 4 acute
angles butis a

hexagon not a
pentagon.

This diagram has four angles marked A, B, C and D.

Write the letters of the angles that are obtuse angles.




